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3000\ run 25171 — 2 3000 run 25474 2 30001 run 26078 - 2 3000 run 26084 — 2 3000 run 26116 - 2 3000 run 26141 — 2 3000[- run 26145 B 2 3000[- run 26147 ]
[ — data 1 = 25474 — data — 26078 — data ] = 26084 — data — 26 1 6 — data — 26 41 — data — 26 45 — data — 261 47 — data
run 25171 =; s run - s run - s run - s run - | % run - | % run - | % run - |
2000~ X2/Ngor = 19343.08/7637 =253 | = 2000~ X2/ngor = 19036.67 /7637 =249 | = 2000~ X2/Ngor = 20049.13/7637 =263 | = 2000~ X%nao = 18882.35/7637 =247 | £ 2000 X2nao = 1910550 /7637 =250 | £ 20001 X2/Ngor = 18541.55/7637 =243 = 2000~ X2/ngor = 17955.61/7638 =235 = 2000 X2/nger = 18899.20 / 7638 = 2.47 |
Norm. = 148.897 +0.080 ] £ = Norm. = 148.584 +0.077 g £ Norm. = 150.955 + 0.076 ] £ = Norm. =149.098 + 0.075 g £ o Norm. = 148.653 +0.076 4 £ o Norm. = 148.809 +0.076 4 £ Norm. = 136.527 + 0.069 ] £ [ Norm. =132.708 + 0.068 ]
b Asast = 0.238 £0.000 1 < F Asast = 0.237 £0.000 1 < F Asast = 0.234 £0.000 1 < F Agast = 0.237 £0.000 1 < b Asast = 0.235 £0.000 1 < I Asast = 0.234 £0.000 1 < Agast = 0.271 £0.000 < Asast = 0.280 £0.000
1000~ Tyast = 33.608 £0.033 ] 1000~ Tyast = 34.466 £0.076 ] 1000~ Tyast = 35.455 +0.049 ] 1000~ Tyast = 35.285 £0.049 ] 1000 Tyast = 34.938 £0.077 ] 1000 Tyast = 35.287 £0.078 ] 1000 Tyast = 32,536 +0.071 1000k Tyast = 32.306 £0.071
+ Toiow = 1475.190 £ 1.330 1 Toiow = 1480.703 £ 1,354 i Toiow = 1489.117 £1.218 i Toiow = 1474023 £1.215 i Toiow = 1461.312£1.318 Toiow = 1473.580 +1.336 Tsiow = 1350.096 + 1,305 Toiow = 1321.062£1.313
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Time [ns] Time [ns] Time [ns] Time [ns] Time [ns] Time [ns] Time [ns] Time [ns]
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3000 run 26149 ; 2 3000 run 26152 , 2 3000 run 26154 , 2 3000}~ run 26161 - 2 3000}~ run 26163 . 2 30001 run 26165 1 2 3000[- run 26167 ] 2 3000[- run 26254 a
e s 26152 —&= s 26154 —o= e | 26161 —¢ 15 | 26163 —¢= 13 | 26165 —= | 3 26167 —= s 26254 — o=
7 run 26149 —; 1% | run — 15 | run — 1% | run - 1% | run — | % run — s run — s | run — :
2000}~ X¥/naor = 19499.87 /7638 =255+ = 2000~ X¥/naor = 20056.58 /7638 =2.63 - = 2000~ X¥/naor = 20595.73/7638 =270 S 2000~ X%/naor = 20661.80/7638 =2.71—| 5 2000[~ X¥naot = 20771.71/7638=272— = 2000}~ X¥/naot = 23287.47 /7638 =8.05 = 2000}~ X¥naor=21242.94/7638 =278 £ 2000~ X2/nor = 21207.03 /7638 = 2.78
I Norm. =131.045+0.066 ] £ I Norm. =130.303 +0.068 ] £ I Norm. =129.761+0.067 ] £ Norm. = 126.812+0.067 £ Norm. =127.413+0.067 £ I Norm. =129.669 + 0.067 ] £ I Norm. =128.737 +0.067 ] £ I Norm. =128.280 +0.066 ]
Asast = 0.285 £ 0.000 < Asast = 0.287 £0.000 < Asast = 0.288 £0.000 < Asast = 0.292 +0.000 < Asast = 0.290 £ 0.000 < Asast = 0.293 £0.000 ] < Asast = 0.293 £0.000 1 < Asast = 0.291 £0.000
10001 Trast = 31.7630.007 ] 10001 Trast = 31.9650.070 10001 Trast = 32.112£0.070 ] 1000l Trast = 32.112£0.071 ] 1000l Trast = 31.706 £0.071 ] 1000 Trast = 32.658 £0.070 ] 1000 Trast = 32.293£0.070 ] 10001 Trast = 31.828 £0.070 ]
Toiow = 1305.647 £ 1.240 1 Tlow = 1310.583 £ 1.336 Toow = 1304.321 £1.336 1 Tolow = 1295.130 £ 1.363 1 3 Toiow = 1292.259 + 1.342 1 Toiow = 1298.238 +1.345 Tolow = 1293.608 + 1.337 Toiow = 1275.810£1.307 1
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30001 run 26265 1 2 3000 run 26320 N 2 30001 run 26365 ] 2 3000[- run 26381 2 3000[- run 26440 ] 2 3000[- run 26491 ] 2 3000} run 27947 - 2 3000} run 28209 .
— data 1 = 26320 — data 1 = 26365 — data — 26381 — data — 26440 — data — 26 91 — data — [ 27 47 — data 1 = [ 28209 — data ]
run 26265 —; s run — s run — s run — | % run — | % run — | % run — | % run — |
2000}~ X¥naor = 22614.41/7638 =296 = 2000 X¥/naor = 22871.98/7638=299-{ = 2000 X¥/naor = 22548.10/7638 =295 = 2000~ X¥/naot =21420.82/7638 =2.80-| S 2000[- X¥/naot = 20785.20/ 7638 =272 £ 2000[~ X¥/naor =21328.12/7638 =279 S 2000~ X¥/naot = 26921.31/7652 =852 E 2000~ X2/Naor = 29231.19/ 7649 = 3.82
I Norm. =128.817+0.065 ] £ I Norm. =130.190 +0.067 ] £ I Norm. =129.254 +0.066 ] £ I Norm. =128.019+0.066 1 € I Norm. =128.758 + 0.066 ] £ I Norm. = 128.787 +0.066 ] £ Norm. = 117.832+0.063 £ Norm. = 118.830+0.063
Asast = 0.294 £ 0.000 ] < Asast = 0.290 £ 0.000 ] < Asast = 0.291 £0.000 1 < Asast = 0.291 £0.000 < Asast = 0.290 £ 0.000 < Asast = 0.289 £ 0.000 < Asast = 0.293 £0.000 < Asast = 0.292 £0.000
1000 Trast = 32.368 £0.070 ] 1000 Trast = 32.356 £0.070 ] 1000 Trast = 32.111£0.070 ] 10001 Trast = 31.978£0.070 10001 Trast = 32.077 £0.070 10001 Trast = 31.899£0.070 1000 Trast = 34.906 £0.073 1000 Trast = 35.929£0.074
Tolow = 1265.697 £ 1.293 Teiow = 1290.929 £ 1.317 Tlow = 1273.139 £ 1.296 Tlow = 1271.003 £ 1.303 Toiow = 1283.9051.315 Toiow = 1284.678£1.315 3 Tlow = 1289.6101.374 3 Toiow = 1300.621 £ 1.386
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— _ —— —————— . — & — _ —— —————— ——] &5 — _ —— —————— ——] & — _ —— —————— . — ) — _ —— —————— — ) — _ —— —————— —— &5 — _ —— —————— — 5 — _ —— —————— —
30001 run 28210 - 2 3000} run 28211 - 2 3000} run 28212 - 2 3000~ run 28213 . 2 3000} run 28215 - 2 3000 run 28216 — 2 30001 run 28217 - 2 30001 run 28218 -
— data 1 = i 2821 1 — data 1 = [ 2821 2 — data 1 = I 2821 3 — data 1 = I 2821 5 — data 1 = 2821 6 — data 1 = I 2821 7 — data 1 = 2821 8 — data ]

run 28210 —=: Y run - | % run - | 5 | run - 15 | run - | % run - Y run - Y run -

2000~ Xo/Naor = 27468.14/ 7649 =359~ 5 2000~ X%/naor = 28621.44/ 7649 =374 £ 2000 X¥/naot = 27847.91/7649 =864 = 2000~ X%/ngo = 29068.02/ 7649 =380 5 2000~ X%/nao = 27393.88/ 7649 =358 -| £ 2000 X?/ngor = 26266.12/ 7650 =343~ 5 2000~ X?/ngor = 25952.12/ 7650 =339~ 5 2000~ X2/Ngor = 25655.61 / 7649 = 3.35
Norm. = 118.311+0.063 £ Norm. = 118.453 + 0.063 £ Norm. = 118.427 + 0.063 £ Norm. = 120.443 + 0.063 £ Norm. = 120.843 + 0.064 £ Norm. = 119.427 + 0.063 £ Norm. = 120.550 + 0.064 £ Norm. = 123.920 + 0.065 ]
] Asast = 0.289£0.000 < Asast = 0.291 £0.000 < Asast = 0.291 £0.000 < Asast = 0.289£0.000 < Asast = 0.287 £0.000 < ] Asast = 0.284 £0.000 < Asast = 0.282 £ 0.000 < ] Asast = 0.275£0.000 §
1000 Tast = 35.189.£0.075 1000 Trast = 35.054 £ 0.074 1000 Trast = 35.259 £ 0.074 10001 Trast = 35.425 £ 0.074 10001 Trast = 36.084 £0.075 1000 Trast = 33.631£0.074 1000 Trast = 33.768 £ 0.074 1000 Trast = 37.148 £ nan ]

Tiow = 1801.562£1.383 3 Telow = 1299.122£1.382

Tiow = 1307.102£1.397 Teiow = 1302.191 £1.361

I Tslow = 1321.224 +1.388 Tslow = 1309.663 +1.367 I Tslow = 1320.808 £1.371

Tslow = 1356.345 £1.291
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3000~ run 28219 1 2 3000}~ run 29180 . 2 30001 run 27393 1 2 3000}~ run 27508 - 2 3000}~ run 27980 B 2 3000}~ run 28046 - 2 3000}~ run 28106 - 2 3000}~ run 28518 .
— data {1 = 291 80 — data 1 = 27 93 — data = 27508 — data = 27980 — data ] = L 28 46 — data 1 = [ 281 06 — data 1 = i 2851 8 — data ]
run 28219 —; 15 | run - | % run — s run - | 3 run - s run - 15 | run - 15 | run - :
2000~ Xngor = 26367.15/7649 =345 | = 2000 X2naor = 27380.00/ 7649 =358 | = 2000 Xngr = 22877.60/ 7648 =299 £ 2000[ Xngor = 19814.24 /7654 =250 ] £ 2000 Xngor = 28753.15/7650 =376 7| = 2000(- X¥Naot = 28574.86/7650 =3.74—| S 20001 XoNao = 29305.26/ 7649 =383 = 2000 X%/naot = 29305.26 / 7649 = 3.83 |
H Norm. = 129.355 + 0.067 4 £ Norm. = 117.656 + 0.063 ] £ I Norm. = 123.358 + 0.061 ] £ H Norm. = 144.145+0.071 4 £ Norm. = 118.569 + 0.065 £ Norm. = 118.932+0.063 £ Norm. = 119.375+0.063 £ Norm. = 119.375+0.063
I Aast = 0.257 +0.000 1 < Avast = 0.297 +0.000 < Avast = 0.306 +0.000 1 < I Avast = 0.240 +0.000 1 < I Avast = 0.287 +0.000 < Avast = 0.289 +0.000 < Avast = 0.290 +0.000 < Avast = 0.290 +0.000
1000 Trast = 39.187 £0.044 - 1000 Trast = 33.531 £ 0.068 1000|- Trast = 31.009 £ nan 1000 Trast = 35.441 £0.078 — 1000 I Trast = 33.732 £ 0.091 1000}~ Trast = 33.2750.072 1000}~ Trast = 35.007 £0.074 1000}~ Trast = 35.007 £0.074

Tiow = 1391.769 £ 1.240 Teiow = 1262.829£1.391

Tslow = 1230.339£1.180 R Tslow = 1379.072£1.230 Tsiow = 1307.016 £1.510 3 Tslow = 1297.618 £1.366

Tsiow = 1295.532 £ 1.366 Teiow = 1295.532£1.366
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Time [ns] Time [ns] Time [ns] Time [ns] Time [ns] Time [ns] Time [ns] Time [ns]
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3000 run 28577 | 2 3000}~ run 28681 . 2 3000} run 28803 - 2 3000~ run 28895 | 2 30001 run 29032 - 2 30001 run 29110 - A run 29199 2 a00ok run 29229 1
N ] ] N ] i ] ] 1 < - E L .
| — | § 28681 —: 151 28803 —: 157 28895 —: |5 29032 —: : 29110 —& ;o 29199 —: : 29229 —:
, run 28577 =; | % | run - | % run - 1% | run - | % run - s run - gt run - 1% run - ,
2000 X%/naor = 26908.94/ 7649 =352 - = 2000~ Xo/ngo = 29289.44/ 7649 =383 5 2000~ X%/naor = 2740052/ 7649 =358 -| = 2000~ Xo/nao = 2704174/ 7649 =354 5 2000~ X%/nao = 25516.75/ 7649 =334 £ 2000 X2Ingor = 25487.99/7649=833 | = F X%/naor = 25135.61/7650=329 1 = g0l X2/Ngos = 32127.92/ 7650 = 4.20 ]
Norm. = 118.076 + 0.062 £ Norm. = 118.785+0.063 £ Norm. = 117.932 +0.062 £ Norm. = 117.847 +0.062 £ Norm. = 116.972 + 0.062 ] £ Norm. = 115.664 + 0.063 ] £ 1500 Norm. = 101.406 + 0.055 = £ Norm. = 122.933 +0.063
Asast = 0.292 £0.000 < Asast = 0.293 £0.000 < Aast = 0.291 £0.000 1 < Asast = 0.293 £0.000 < I Asast = 0.290 £ 0.000 1 < I Avast = 0.294 +0.000 1 < o Avast = 0.307 +0.000 i < L Asast = 0.296 £ 0.000 ]
10001 Trast = 33,467 £0.073 ] 10001 Trast = 34.146 £ 0.073 1000 Trast = 33.830£0.073 ] 10001 Trast = 33,711 £0.072 N 1000[- Trast = 33.2030.081 4 1000[- Trast = 33.285.0.005 4 1000~ Trast = 31.442£0.016 E 1000 Trast = 30.882. 0.046 1
F Tsiow = 1276.100 +1.337 1 3 Tsiow = 1288.216 +1.364 3 Tsiow = 1279.082 +1.346 1 3 Telow = 1274.997 +1.341 1 3 Tsiow = 1282.778 +1.396 1 3 Tsiow = 1266.284 +1.326 1 Teiow = 1172.503 +1.281 1 Tsiow = 1261.203 +1.260
] b ] ] ] ] 500f E
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